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Simplify the followi
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uestion 2

Simplify the followi
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uestion 4

Simplify the followi gebraic ex
fraction in its simplest form.
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Question 5

Simplify the following algebraic expressions giving your final answer as a single

fraction in its simplest form.

2) 4x _ 2
x2—9 x+3
b) y=10. = y-8
(y=3)(y+4) (¥=3)(2y-1)
o 1+ 4t 5 215
2t—5 2t —T7t+5
2
g 2w 4

(w+1)®  (w+1)* w+l

y—14

3t+2

W —5w—4

(y+4)(2y—1)

-1

(w+1)°
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uestion 6

Simplify the followi gebraic ex

fraction in 1

simplest form.
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uestion 7

Prove that
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uestion 8

Prove that
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Prove that
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uestion 10

Prove that
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Question 1

Find the values of the constants in the each of the following identities.

©=2x*+7x—1 2 d
a) =sax“+bx+c+——
x+1 x+1
3 SO
b) 2x X —xH2_ A v 4D
x=2 x=2
3_
¢ szx2+Qx+R+ 5
x+2 x+2

(a,b,c,d)=(1,-3,10,—11)|,|(A, B,C,D)=(2,1,1,4)|.|(P.Q,R.S) =(6.12,20,-32)
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Question 4
Find the values of the constants in the each of the following identities.
x3—2xz+2x—l= cx+d

a) =ax+b+
x> +1 X +1

3 4
J—x"—4x+ Cx+D
) 3x XZ x+2 B );

x =2 x =2

3_
0 S5x 24)C+SEP)H_Q_|_R)§+S
x =1 x =1

(a,b,c,d)=(1,-2,1,1)|,|(A,B,C,D)=(3,-1,2,0)[,|(P,Q.R,S)=(5,0,1,5)
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Question 5

Created by T. Madas

Find the values of the constants in the each of the following identities.

360 —x2—2x+1

a) =qax

o +x—1

2x3 4+ x-2 y

b) ———=Ax+B+

x2+1

43 +x—4
2x7=x

c)

=Px+0Q+

cx+d

o+ x—1

+b+

Cx+D

X2 +1

Rx+ S

2x% —x

(a.b.c.d)=(3,-4,5,-3)

[(A.B.C.D)=(2.0-1,2)

(P,O,R,S)=(2,1,2,—4)
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Question 6

Find the values of the constants in the each of the following identities.

203 +x% —4x+1

a) ; =ax+b+
X" +x-2 x+d
3 - |
b) 2x +§x 10x 35Ax+B+
X“+x—-6 x+D
3 2
-x° - —4x+4
0 X 25)C x+ 2p 0%
X" +3x+2 x+S§
(a,b,c,d)=(2,-1,1,2)|, |(A,B,C,D)

(2,1,1,-2)],

(P,O.R,S)=(-1,-2,4,1)
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uestion 2

Express each of the
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uestion 3

Express each of the
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Question 6

Express each of the following into partial fractions.

x—4x+1
x(x+1)(1-2x)

a)

10
(y+1)(y+3)(2y+1)

b)

47 —5t+3

(t+1)(2=1)(r-2)

12w* —4w+3
(2w+1)(2w—1)(2w=3)

1, 1 2] 1.5 8] [=2

1 1, 3 1 1 3
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Question 10

Express each of the following into partial fractions.

25x+1
(2x—1)(x+1)*

a)

5y*=19y+13
(y=2)(y-7)

b)

15—=13¢ +4¢*

SR

2w’ -3
(3-2w)(1-w)’

y=7|> |4t " 1-t
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uestion 12
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uestion 13

Express each of the
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Question 14

Express each of the following into partial fractions.

4

(«* +1)(x-1)

a)

y2+3y+36
(y2+9)(y+9)

b)

1202 4143
(2t2 +1)(6t+1)

c)

4w

1-w

d)

4

2 2x+2 1 3 3 t 1 1 2w
— + + ! — +
y+9 y2+9 6t+1 2241 [1-w 14w 1+w?

x=1 x?+1
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